&k 6

ERAEIKICERT SRR EE D LB

1 X TINTF—F—ICETHEREDLES

IARIND F—F—HF
(BREEE)

FTF2TINANIRTNT F—H
(o—F w2 R)

Rl DR
(2—F v 7 R)

AERAR .

KOBZFERE T HHEEREEAKTHY | &i
KOBDHLD, —BILRFEZFEALED
D, ANTTLEEFMLUELO%, FHR
BB DFEAREED S LES, W AER
VBEIZETAIHRERMATH O,

TR T NOMERSIC & o THE ST
Hhb

s FRPLRESHTRROMTILE

BEEAKIRELD
BERDESHOHBBA THRO P —E T,
BEHEREKBEENSLZELTWS

- IRROBAERREE R MEFENARE

Ay ko THRAKSNZH D

c FROT I TREMNIZARE LT

oD

* ZOHBTRDODLNATNSHZ LS D

AR A L TUNVen

FF2TGNIRTATF—F LD A
PHETAHHOKTHY, REHDH WL
BRI bz S 2T A0 2Bk ®
KITEHRELTHRWA, w8, Hokkl, &
BRUTEDMOEMEZE A TIIR LR
AN

2 FUEESE O
BIHLE IR



(B mg/L)
FE3

BB En BEREEE R I-TAER) KiEE WHORRHK 4'f
M3
@I E [EEEK Z?nihiﬁlb'ﬁt— g’m;‘-n'v'r—"/b‘
— 1—_ o
1|—gedes T 100 100 ﬁlﬁﬁi%gz ﬁﬁﬁi%§$ 100 CFU/mi
H
2] KIEER SEh Tl T BH IE S &l T Fi&RH
FIETYTA Y 0.01 0.01 0.003 0.003 0.01 0.003
EF] sHH 0.0005 0.0005 0.001 0.001 0.0005 0.001
5[l =Y 0.01 0.01 0.0t 0.01 0.01
HE fith 0.05 0.1 0.01 001} 0.05(0.01F5E) 0.01
pi TN FEHY 1 0.7 0.7 0.7
b =3 ES 0.05 0.05 0.01 0.01 0.01 0.01
9|75 y0hL wmiY 0.05 0.05 0.05 0.05 0.05 0.05
10137 | 0.01 001 0.07 0.07 0.01 0.07
11| ESEERBU o] 10 0 74850 TRk 50| 10(FETHEE  B5 4R TH Bk 50
ISR HFAEG-002) FETARE-3(1@tE] IEBLLT005)) FHIHEE 30184
12|[2vE i3 xi] 2 038 Bl 1.5 0.8 15
13[7Fo% s 30( 2 8 5 0.5 1(EE#EA) 0.5
14| 3R R Eh 5 1 1
15|48 31 1 1 1 2 i 2
16]vh’y M 2 0.3 05 0.5 0.05 05
17| FishsE HES 12 10 10
18[B1ED 310 0.05
19| i), FHY 0.1]
20|&& £ 0.3] 0.3
I E-E R By 200{ 200
221hIA-IT RN B 300} 300
S(EE)
2| ERBRED 500 500
24(BEA A RIEE 05 0.2
i
25|71/-4R a8y 0.005 0.005
26pHiiE 5.8-8.6 58-8.6
2718k _ RETHNCE BREThEWCE
28| R% RETHLE KETENCE
29 A SELLTF SEUT
0| REE 2B T 2ELLF
317UFEy 3 i 0.005 0.005]| 0.002(BS1R1RH) 0.005
32|=F i 0.02 002 00t(E51EE) 0.02




(81 mg/L)
e

EH X4 B EiE (RAK) I-F A (B HEE WHO?f-}Jk e
3{Y
M5 [AREEK Z&‘ﬁ»i*ik")#— ?.!;'ng'-r\'v’f—"/'r'
 — 1._ J—
EBEEER EEH 0.002 0.002 0.002
34|12, 50014 F#&h 0.03 0.004 0.03
35[1,1-4onIFLy qHigH 0.03 0.02 0.03
36[> 705 g9 0.02 0.02 0.02
37¥2-1,2-¥7/nnI¥ e ] 005{1,2-&LT)] 0.04(F52A-128| 0.05(1,2-&LT)
b HABELT
38jTh7900IFL HEY 0.04 0.01 0.04
39[1.1.2-py4001 4y 80 0.006
40[M1PA0IFLY HiH 0.07 0.03 0.07
I NP HEY . 0.01 0.01 0.01
42|900%8 4 HERERY 0.2 0.06 0.2
43y 7 oesondsy  iEEBIE R 0.1 0.1 0.1
4|7 nevnsey  [HSEIERT 0.06 0.03 0.06
45(7'0EFI L ek Aok 0.1 0.09 0.1
46| &R noAgy HSRIERY o 0.1
471,3-Yhnn7’ A"y B¥ 0.02 0.002 0.02
48[y £ 3 0.002 0.003 0.002 i
49|¥774 BE 0.006
50]FFATv LT B¥ 0.02
51{F M)A =Y 200
52{1,1,1-M}/00T % High 2 0.3 2
53[EU7 T 31 007] 007 (ERER) 0.07]
54|55 sih 0.002] o0.002 (BERAR) 0.002
55[#{EE =N ok 5] 0.005 0.005
56]FLIY 189 07] o06(ES{RIEH) 0.7
571%vby =L L] o5] 04(E4HIHEH) 0.5
58|TFNAVEY E 1) 0.3 0.3
59{AFLY 72 0.02 0.02
60[A" LY (@) L HigH 0.0007 0.0007
61|€/900A74 A% 0.3 0.3
62[t2-yoaut’y | Hill 1. 1 1
63[1,3= oAy &9 0.3 0.3
a1 4-vmoNuEy | i 03] 0.3(p-&LTCEH) 03
HE)
5[k 00~ HE HH 0.02 0.02
(& FHE)
66(7 VMY 217 | BHEM 0.08 0.08
| 4,




(B4 mg/L)
#E

=] E4a Bl (FHAK) I-ToIAME) 353 WHoﬂﬁgﬁ* nq
3
W3-8 [AREHK FFa5R3RTN 74— flﬂb;’-n’v'r-"/lf
— 1-_ j—
67|50 B —2-IF 0 T8 0008] 006(EiER) 0.008
s 1
68|7HILTIM HHYD 0.0005 0.0005
69|TEHo0EE ) A% 0.0004 0.0004
70|~44I007° 21y " 0.0006 0.0006
71|EDTA it 0.6 0.6
72INTA Ty 0.2 0.2
73[BEM7 FLAA Hig 0.002 0.002
74|30 AFY 18P 0.001 0.001
7573500 [ ¥3 0.02 0.02
76|TAT 4INT RE 0.01 0.01
TIHTRE R /T BE 0.60003 0.00003
78|7H5Y BE 0.002 0.002
79|A Ry [ ¥4 03] o02(E#i/AE) 0.3
80|hi&" 73w B 0.007] 0.005(8H1HH) 0.007
819017 2% 0.0002 0.0002
g2{ynaknry [ E3 0.03 0.03
83[VTH LE3 0.0006 0.0006
84|DDT B2 0.002 0.002
8511,2-'7°0%-3-90 = 0.001 0.001
07 an'y
86(1,2-"7 NETSY BX 0.0004 0.0004
87[24-D BX 0.03] 003(ESiHHAA) 0.03]
8s8[1.2-vnn7s an’y A¥ 004] 0.06(EsIRIBH) 0.04
8ol 7t ¥ 3 0.01 0.01
90[A7" 4100 - AT 590 [ E3 0.00003 0.00003
NI FLE
9 {A$HI0OA VE Y =E 0.001 0.001
921497’ 0F%5 R3E 0.009 0.009
93{y7 . E 3 0.002 0.002
94|MCESEA [[E3 0.002 0.002
95| AH08 [ £3 0.02 0.02
96 £h770N B 0.01 0.01
97| ¥)%~} . BE 0.006 0.006
98[AST 128 [ ¥ 3 0.02 0.02
99|~ 20071/ B3E 0.009 0.009
100[A" AR R¥ L 0.02 0.02
10UT AN zN BE 0.02 0.02
102]t7 =} BE 0.1 0.1
103[H2NS ) ¥ 0.02 0.02




(BT mg/l)
W&

B X9 BREE(RK) I-TYIA(HR) HEE WHoﬁfg#::r'er 4
54y
BRSO |AESRE K Zhﬁ!biﬁ»"}a‘— g'bllg'-n""f’r—"/'F
— 1-— —

104[2,4DB BE 0.09 0.09
105[>"9ER7'my 7" BE 0.1 0.1
106|720/7 097 BE 0.009 0.009
107[A27° 17 ex 0.01 0.01
108|2,4,5-T [ ¥ 4 0.009) 0.009
109|TBA [ ¥ 3 0.007 0.007
10|/~ -+ 90530 EEEH 3 3
11)183% HEH 5 5
12| B %R HEH 0.025 0.025
13 HIERE -3 0.2{ 0.6 (B£RER ) 0.5 0.2

ZE{LIE®
114]2,4,6-F/9nR71/- ERBIE R D 0.2 0.2
115|FLLTATEF HERE Y| oo| o0s(EEEE) |
116|7 0%k A HERIERD| 0.1 0.1
1175 FonEr RS HERIERD| 005] o02(EHWEE) 0.05
18- 5 onEERE EEIET R 0.1 0.3 (EARH) 0.1
119|fazxks05-n EEIERD| 00i1] OoO03(BEHEAR) 0.01
1205 son7er=pUn BB EIE R | 009] oo0s(EMER) 0.08
121X 70E7 ek [EEEIAE S| 0.1 0.1
122|M5onr b=y ESEERS 0.001 0.00t
123 iﬁ)fb-‘ﬂy(-‘/?ytl, FELIES 2 0.07 007

T

124[ 2707 | RMAtEHE o1 0.1|Bg/L
125|2~ st | REERE 1 1[Bq/L
126|495 4F4Y BE 0.008(BERIAH)
127(5°47 1 Bx 0005(EREAD
128|7z-bOFAY [ E 3 0.003(E#HRAH)
129|497 0F 45> [ ¥ 3 0.04(EHEE)
130|900%0= 14 [E 6.05(EHHEA)
137t EY BX 005(BE@EE)
132[3 9004 A B 0008 (EHIER)
133[22/7hR 7 B 003 (EHEE)
1344002 Fn71y B 0.005(BEHEE)
1354708 UhA BE 0.008(%HAMA)
136]EPN RE 0.006(ERMH)
137{M90E' A BE 0.006 (EREH)




(BiGE mg/L)
- E3

HH X4 ELE S ET R ) T yhA (B E % wno%ﬁ:k PE
L)
IHIN--8  |[FREEK ;hﬁibiﬁlb‘?t— g'HI/;'-n";‘r—"/'F
— 1-_. — -
2.3.78-TCDD(% 1 ipeTEQ/L(
1382 %) L]




